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sola:=dsolve(diff (y(t),t)-y(t) "2*sin(t)=0,y(t));

sola := y(t) = (cos (h) + CI)~!

Y YL 05S dall
toplota:=seq(subs(_Cl=i,rhs(sola)),hi=2..10);

Lad e ST C1 ol Lidae | Ui
> sola:=dsolve (diff(y(t),t)-y(t)*2*sin(t)=0,y(t))
toplota:=seq(subs(_Cl=i,rhs(sola)) ,hi=2..10);
plot([toplota] ,t=0..2*Pi,view=[0..2*%Pi,0..1],color=black);

1

sola =y(t) = cos(t) + CI
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> LODE:=diff (y (t),t)+p (t)*y (t)=q(t);
dsolve (LODE,y(t)) ;

LODE =< y(0) + p(1) y(1) = (1)
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ies =y(0)=1,D(y)(0) =0 A0yl Ja g il & ode :=%y(x) =2y(x) +1

:Jall
> ode := diff(y(x),x,x) = 2*y(x) + 1;
ics := y(0)=1, D(y) (0)=0;

dsolve ({ode,ics}) ;
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> sol := dsolve({ode, ics}, y(x), method=laplace)

sol ==y(x)= —% + % cosh(ﬁx)
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> series_sol := dsolve({ode,ics}, y(x), series);
series_sol =y(x) =1+ % x>+ %x“ + O(x6)
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> sys _ode := diff(y(t),t) = x(t), diff(x(t),t) = -x(t);
dsolve ([sys_ode]) ;
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sys_ode = ” y(t) =x(1), & x(t) = -x(1)
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> sys_ode := diff(y(t),t) = x(t), diff(x(t),t) = -x(t);
ics := x(0)=1, y(1)=0;

dsolve ([sys_ode, ics]);

sys_ode :=— y(t) =x(t),
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> with (DEtools) :

M:=(x,y) ->cos (x)+2*x*exp (y) :
N:=(x,y) ->sin(y) +x"2%*exp(y)-1:



diff (M(x,y) ,y):
diff (N(x,y) ,x):

eq:=M(x,y(x))+N(x,y(x))*diff (y(x) ,x)=0;

odeadvisor (eq) ;

sol:=dsolve (eq,y(x)) ;

eq =cos(x) +2x ™ + (sin(y(x)) + x> &™) — 1) [%y(x))

=0

[ exact]

sol =sin(x) + x> ") — cos(y(x)) — y(x) + CI=0
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> with (DEtools) :
eq:=(y(x) *2+2*x*y (x) ) -x*2*diff (y(x) ,x)=0:
odeadvisor (eq) ;
solve ((y/x)/ (y/x+1)=c*x,y) ;
[[_homogeneous , class A1, _rational, Bernoulli ]
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> eq:=(y(x) "2+2*x*y (x) ) -x"2*diff (y (x) ,x)=0:
sol:=dsolve(eq,y(x)) ;
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sol =y(x) = —+ 1

> toplot:=seq(subs(_Cl=i,rhs(sol)) ,i=-5..5):

plot([toplot] ,x=-5..5,view=[-5..5,-5..5],scaling=constrained,color=black) ;
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> sol:=dsolve({diff(y(t), t)=(t*2-y(t)*2)*sin(y(t)),y(0)=-

1},y(t) ,numeric) ;

sol (1) ;

with (plots): odeplot(sol, [t,y(t)],t=0..10,color=black) ;
sol =proc(x_rkf45 ) ... end proc

[t=1.,y(t) = -0.76601299




